Hillcrest

School IMP [OO [FEX|NEX|INT (PF |LD |CX |Con [INF |Total
Park City 5| 3| 16 8 1 40| 16| 2| 16 13| 120
Logan 5| 11| 15| 11| 15 22 91 8 10 1| 107

3] 6 3 5 0 8| 10 O 5 5| 45
Mountain 14| 5 2 1 3 0 5| 0 7 3| 40
Green Canyon 11 6 1 0 0 18 0 8 0 6 40
Jordan 11 O 1 3 8 8 71 O 8 0| 36
Cedar High 4, 0 3 5 3 0 4, 0 4 11 34
Cottonwood 5( 0 3 5 0 0 7 0 9 5| 34

Sky View 0] O 0 0 6 2 8| O 0 0| 16
Crimson cliffs 0] O 3 0 0 0 0| 10 0 0] 13
Desert Hills 2( 0 0 0 0 0 5| 2 1 3] 13
Payson of 1 0 0 1 0 1 0 0 4 7
Murray 0] O 0 0 0 0 ol O 0 0 0




